—©
/
/
/
/
I
|
\
\
\
\

2§ L2 . 999

24"

e ——

I 2”8 HOLE IN [ ]

— — — — —i
|| i

SHELF (TYP. 3)

DOWNSPOUT

\ 3"x3"x1 /4"x4"L
STEEL ANCHOR

TAB (TYP. 4)

' 24” 120" 24” '
r-r—-————~F/——(—(—(—(— (" —(— (= — = — — — = — — — g m
I I
I EXTERIOR I
: TS T
I == e[l |
| I 10" |
| o |
I Bl |
| é) ! |
I /(J | I
| 6”x12” CONDUIT | |
ACCESS CUTOUT
I e—d| I
I | i I
| [ | s |
| | |
| | |
I | . . 7
| /) |
| | 2 |
| I /7 |
| | 7 |
| Ll |
| |
| |
I I
I I
| |
| |
I I
I I
i |
| |
| |
I I
I I
L

(TYP. 2) \D
_

PLAN VIEW

_>27/8”I‘ ‘ IYB‘I

1/4” J

—»I— 1/47 B

HEAVY DUTY EXTRUSION USED
ON THIS BUILDING

DURALUMINUM MODEL 120120SW BUILDING NOTES:

(1)— 100 AMP, SINGLE PHASE 12 SPACE LOAD CENTER w/ MAIN BREAKER
(2— 115V DUPLEX OUTLET

@b— 115V GFI DUPLEX OUTLET

(3— 230V 30AMP SINGLE QUTLET

(4— 4’ SURFACE MOUNTED LED WRAPAROUND LIGHT w/ SWITCH

(5)— EXTERIOR SINGLE HEAD LED SPOT/FLOOD LIGHT w/ SWITCH

(6)— 230V, 20,000 C / 13,000 H BTU THRU WALL HVAC UNIT

(7)— 240V 4,800 WATT WALL MOUNTED HEATER (WIRED DIRECT)

(8— DATA/PHONE JACK w/ CONDUIT & PULL WIRE TO ACCESS CUTOUT
(99— 4”x4” J—BOX w/ CONDUIT & PULL WIRE TO ACCESS CUTOUT

10— 22" DEEP PAINTED STEEL SHELF

* EXTERIOR STANDING SEAM ROOF w/ 24" OVERHANG, GUTTERS & DOWNSPOUTS
* CRANE LIFTING POCKETS IN BASEFRAME

* 90" INTERIOR HEIGHT

* 3070 HEAVY DUTY ALUMINUM SWING DOOR w/ HALF GLASS, ADA CLOSER, CHECK
CHAIN & LEVER LOCKSET

* GLAZING: 5/8" CLEAR INSULATED TEMPERED GLASS

* INSULATION: WALLS R—-10, FLOOR R—-19, CEILING R-30

* STANDING SEAM ROOF COLOR: ADVISE ROOF COLOR

* INTERIOR PANEL FINISH: DIAMOND EMBOSSED ALUMINUM

* ALUMINUM TREAD PLATE FLOOR

*

STANDARD CONDUIT ACCESS CUTOUT

»

2 7/8

ANCHOR TAB DETAIL

RECOMMENDED THAT EACH ANCHOR TAB BE
SECURED TO MEZZANINE w/ 1/2"¢ GR. 5 BOLT.

SERVICE (ASD) LOADS TO MEZZANINE AT
EACH ANCHOR BOLT

T = 0.65 KIP

V = 0.30 KIP

FULLER ENTERPRISES CONST.

208 DELMAR
MILLS, WY 82644

PROJECT:

CUSTOMER:
FULLER ENTERPRISES
SYSTEM:
DURALUMINUM
MODEL:
120120SW

4133 SHORELINE DRIVE
EARTH CITY, MO 63045
1-800—456—-5464
www.portaking.com

PORTA-RING

BUILDING SYSTEMS

ESTIMATE:

ORDER:
PK34198

JOB:

DATE: 3_30—21

REVISED:

DRAWN BY: DGR

SHEET 1 OF 6




woo-buypliod-mmm

¥¥928 AM ‘STIW Msoz10z! Y 9HC—9Gh —008—| © 5 ©
TGN G¥0S9 ON ‘ALID HLYV3 T | L
JAINA INMIYOHS ¢E LY ™ i x
¥VINT30 80T WNNNINNTYYNA X S S| o
INALSAS SWHALSAS DNIATING ) .
"1SNOQ S3SINJYILNT ¥3ITINS S3SIYIYILNI ¥3TIN4 Ni\*l‘k&Qg m g |a 3 m m
:103roYd :¥INOLSNO m g 38 |3 m & M
%
~
3
_ © _”ﬁ
> Te}
Te]
2o a
5= 5%
Z 5 z9
o My
0 0
N\ N\
// //
[
e = N\ .
N |
// w // -
\ \
\ N\
O O
0 0
il L N\
N\ \
// < /// O
g | 3
- — B 2
// = S
. N B
/
N\ N\
\
O O




FASTEN OSB TO TRUSS WITH

#8 SCREWS &

8" 0.C.

ENGINEERED WOOD

TRUSS w/ PE STAMPED PLANS
3/4" 0SB @ 24” 0.C. TYPICAL SPACING
(ENGINEERING CALCS BY TRUSS MANUFACTURER)
STANDING SEAM
ROOF PANS
FIBERGLASS INSULATION
GUTTER (R—30)
e
7z ra ! N
FASCIA — - N
I 2x4 WOOD TOP PLATE w/ 1/4”§ BOLTS @ 12” 0.C. (TYP)
SOFHIT USE SIMPSON H3 TIE AT EACH [SIDE OF EACH END OF THE TRUSS — TOP PLATE CONNECTION
INSULATED ALUMINUM
PANEL, WHITE
3 1/2°x4"x2"x3 /16"
ALUMINUM CHANNEL
47" /GLAZNG
124 7/8" d
OVERALL NOTE: BUILDING TO BE INSTALLED ON MEZZANINE.
HEIGHT ANCHOR TABS TO BE SENT LOOSE, TO ATTACH
O Er e ) BUILDING TO MEZZANINE BEAMS. MEZZANINE ENGINEER
99 3/8 / o0 TO CHECK MEZZANINE FOR LOCAL EFFECTS.
UPRIGHT b EXTERIOR DIAMOND INTERIOR
HEIGHT I /EMBOSSED ALUMINUM HEIGHT
1 3/4” 0SB
g 1”7 POLYISOCYANURATE
/NSULATON
: 1/8” HARDBOARD
48 3/8” /
INTERIOR DIAMOND
EMBOSSED ALUMINUM
/ ALUMINUM TREAD PLATE
11/2” FLOOR
* (2 LAYERS, 3/4” 0SB)
4" =\ ~
s R—19 FLOOR
? gASSETEFERLAﬁgANNEL INSULATION

WALL SECTION DETAIL

FULLER ENTERPRISES CONST.

208 DELMAR
MILLS, WY 82644

PROJECT:

FULLER ENTERPRISES

CUSTOMER:
DURALUMINUM
MODEL:
120120SW

SYSTEM:

4133 SHORELINE DRIVE
EARTH CITY, MO 63045
1-800—456—-5464
www.portaking.com

PORTA-RING

BUILDING SYSTEMS

ESTIMATE:

ORDER:
PK34198

JOB:

DATE: 3_30—21

REVISED:

DRAWN BY: DGR

SHEET 3 OF 6




7 |V S

S 4 S

33'-6"
TOP OF GUARDRAIL

30'-0"

TOP OF DECK

29'-11"
TOP OF BEAM

21'-3"
TOP OF LANDING DECK

ELEVATION C w/ MEZZANINE

9'-7"

TOP OF LANDING DELK

MEZZANINE AND STAIR

SEE PK—STRUCTURE DRAWINGS FOR DETAILS

N\
AN

v

1
N~
Y

30'-0"
TOP OF
DECK

ELEVATION B w/ MEZZANINE

MEZZANINE, STAIR, AND GUARDRAIL NOT CHECKED BY LARSON ENGINEERING.

FULLER ENTERPRISES CONST.

208 DELMAR
MILLS, WY 82644

PROJECT:

CUSTOMER:
FULLER ENTERPRISES
SYSTEM:
DURALUMINUM
MODEL:
120120SW

1-800—456—-5464
www.portaking.com

PORTA-RING

BUILDING SYSTEMS
4133 SHORELINE DRIVE

EARTH CITY, MO 63045

ESTIMATE:

ORDER:
PK34198

JOB:

DATE: 3_30—21

REVISED:

DRAWN BY: DGR

SHEET 4 OF 6




—
n
pd
@)
O
un
Ll
%2}
N <
e <
i S
Eoo< @
pd
b >
19 1/2" - — =
e Ll
D -~
19 1/2" = H n)
. 8§ 2 -
32" 327 32" 23 1/2" —~ 2 5 o =
NOTE: BUILDING TO BE INSTALLED ON MEZZANINE. e N =
ANCHOR TABS TO BE SENT LOOSE, TO ATTACH o
— 1 —+ BUILDING TO MEZZANINE BEAMS. MEZZANINE ENGINEER
T T TO CHECK MEZZANINE FRAMING FOR LOCAL EFFECTS.
un
59 3/4” 5/16"x1” GRADE 5 6 %
OSB SPAN DRILL FLEX SCREW (TYP 4) 8 é E
DIRECTION 12 goﬁTj/zzwcGRPﬁggEg 4" STEEL = %
3% Fx 3/8° CHANNEL BASE FRAME (] L =
x 4" LONG STEEL. o ) — 2
ANCHOR TAE\ ©) = zZ
£ 4 =lo L = =
e = ] 1 aFk . > &
L] \WB 10 STEEL BEAMS s E = N
OF MEZZANINE . o |N = <4 = o ..o
1"x 1/8" STEEL BAR GRATE 19 1/2 ) ,9 = = o o
FOR MEZZANINE DECK — C) n = 2 a N
@) 2L £a o«
ANCHORING DETAIL FOR < | © @ =
BUILDING TO MEZZANINE L
SN
= wn
o)
59 3/4" < r
=
[0 vn 0
o E > <
3"x 3"x 3/8"x 4" LONG STEEL ANCHOR TAB m % < E
ATTACH TO BUILDING BASE W/(4) 5/16" GR. 5 TEK \[_‘ QW ﬁ 3
E_ 1 SCREWS AND THRU BAR GRATE TO MEZZ. BEAMS v L 0
T T W/(1) 1/2°x2 1/2" GRADE 5 BOLT by Z o2
— — (TYP. AT (8) ANCHOR TABS) (SHIPS LOOSE) ] S5=w0-g
_/ || N
C4x5.4 STEEL CHANNEL 2" STEEL BARSTOCK ‘ bR
PERIMETER & CROSS BRACES , O o1 ’5
e e INz 2658
BASE FRAME LAYOUT 3”"x 3" CRANE ta ) |:'_: 0? §
LIFTING HOLE Q MK~ 3
(TYP. 8) ROOF FRAME LAYOUT S — <C
QR U
m
ESTIMATE:
ORDER:
PK34198
JOB:
DATE:
3—-30—-21
REVISED:
DRAWN BY: DGR
SHEET
5 OF 6




DURALUMINUM BUILDING FRAMING NOTES

BASE FRAMES ARE CONSTRUCTED USING
C4x5.4 STEEL CHANNEL

ROOF FRAMES ARE CONSTRUCTED USING 6063 T—6
3/16” ALUMINUM, PERIMETER CHANNEL 3 1/2"x4"x2"

BASE FRAMES AND ROOF FRAMES ARE ALL CONTINUOUS
WELDED AT ALL CORNERS AND CROSS BRACE CONNECTIONS.

VERTICAL STRUCTURAL MEMBERS, 6005 T—6, 1/4”
ALUMINUM CORNERS 2 7/87°x 2 7/8" AND TEES 3"x 4”".

ASSEMBLY NOTES

WALL PANELS, WINDOWS, AND DOORS ARE INSTALLED
BETWEEN FRAMING MEMBERS.

WINDOWS, FIXED AND SLIDING, ARE ATTACHED TO FRAMING
MEMBERS BY 1/8"DIA.x 1/2” CLOSED END POP RIVETS, 12"0o.c.

WALL PANELS ARE ATTACHED TO FRAMING MEMBERS BY
1/4°DIA.x 11/16" DRIVE RIVETS, 12"0.c., AND ATTACHED TO
WINDOWS BY #8 x 5/8" TEK SCREWS, 127o.c.

DOOR FRAMES ARE ATTACHED TO FRAMING MEMBERS BY
3/16"DIA.x 5/8" POP RIVETS, 1270.c.

VERTICAL FRAMING MEMBERS ARE ATTACHED TO THE BASE

FRAME AND ROOF FRAME BY (6) 5/16” GRADE 5 DRILL FLEX SCREWS.

(6) 5/16” GRADE 5
DRILL FLEX SCREW N\

1/4"x11 /16"
DRIVE RIVET~

(4) 1/4"x11/16"

DRIVE RIVET-\

~1/8"x1/2" CLOSED
END POP RIVET

~#8x5,/8” TEK SCREW

TYPICAL ELEVATION

FULLER ENTERPRISES CONST.

208 DELMAR
MILLS, WY 82644

PROJECT:

FULLER ENTERPRISES

CUSTOMER:
DURALUMINUM
MODEL:
120120SW

SYSTEM:

4133 SHORELINE DRIVE
EARTH CITY, MO 63045
1-800—456—-5464
www.portaking.com

PORTA-RING

BUILDING SYSTEMS

ESTIMATE:

ORDER:
PK34198

JOB:

DATE: 3_30—21

REVISED:

DRAWN BY: DGR

SHEET 6 OF 6




PROPRIETARY INFORMATION - ALL RIGHTS RESERVED BY KELLY GROUP, INC. - (C) 2009 KELLY GROUP, INC.

APPROVAL DRAWINGS ARE FOR A
18'-0 3/4" W X 30-0" H X 18-0 3/4" L
TOWER STRUCTURES
FULLER ENTERPRISES CONSTRUCTION
PACIFICORP - CEDAR SPRINGS WIND PLANT

460 SIXTEEN MILE ROAD
DOUGLAS, WY 82633

NOTE: THESE DRAWINGS ARE FOR LAYOUT APPROVAL ONLY, NOT FOR PERMIT

DEALER:
JOB NAME:
LOCATIONS:

SUBMITTAL. ALL FIELD DIMENSIONS AND SITE CONDITIONS ARE THE RESPONSIBILITY

OF THE CUSTOMER. IF P.E. SEALED DRAWINGS AND CALCULATIONS HAVE BEEN
PURCHASED, THEY WILL NOT BE PRODUCED UNTIL AFTER LAYOUT IS APPROVED.

APPROVAL SIGNATURE REQUIRED
(APPROVAL IS FOR ALL PAGES IN DRAWING SET)

4" APPROVED AS SHOWN

1 APPROVED AS NOTED
(NOTED CHANGES MAY CAUSE REVISION PRIOR TO FABRICATION)

[J REVISE AND RESUBMIT PRIOR TO FABRICATION
AUTHORIZED SIGNATURE: 7

DATE: 4/5/2021

IMPORTANT MANUFACTURER'S DISCLAIMERS

THE MANUFACTURER HAS DESIGNED AND ENGINEERED THIS SYSTEM SPECIFICALLY, AS STATED
IN THE TOWER NOTES SECTION. VARIATIONS AND/OR MODIFICATIONS TO THE SYSTEM OR
COMPONENTS WILL VOID AND NULLIFY ANY AND ALL WARRANTIES, BOTH WRITTEN AND/OR IMPLIED,
AND LIABILITY FOR DEFECTS IN THIS SYSTEM AND ITS COMPONENTS. MANUFACTURER FURTHER
ACCEPTS NO RESPONSIBILITY AND/OR LIABILITY FOR OBTAINING OR MAINTAINING AN LOCAL,
REGIONAL OR NATIONAL BUILDING PERMITS, INSPECTIONS OR DOCUMENTS THAT MAY BE REQUIRED.

THIS TOWER HAS (OR WILL BE) ENGINEERED STRUCTURALLY ONLY. IT IS THE RESPONSIBILITY OF THE
BUYER TO VERIFY THAT WHEN THIS TOWER IS INSTALLED, THE BUILDING THAT HOUSES IT COMPLIES
WITH LOCAL SAFETY CODES WHICH ADDRESS INGRESS, EGRESS, FIRE RATINGS, SPRINKLERS, ETC.

ALL INSPECTIONS TO BE ARRANGED BY AND PAID FOR BY OTHERS AND NOT PK STRUCTURES. PROJECTS
THAT ARE NOT APPROVED FOR PRODUCTION WITHIN 30 DAYS FROM DATE ORDER WAS PLACED MAY BE
SUBJECT TO PRICE ESCALATION BASED ON FLUCTUATIONS IN THE CURRENT STEEL MARKET.

TOWER NOTES
1) STRUCTURE:

A) TOWER LOCATIONS: 460 SIXTEEN MILE ROAD - DOUGLAS, WY 82633

B) THE STRUCTURE OF THIS TOWER HAS BEEN DESIGNED IN CONFORMANCE WITH THE APPLICABLE BUILDING CODE: 2018 INTERNATIONAL
BUILDING CODE (2018 IBC) USING THE FOLLOWING LOADS:

a) LIVELOAD = 100 PSF W/ DEFLECTION LESS THAN L/360 (180 3/4" X 18-0 3/4" AREA)
b) LIVE LOAD = 100 PSF W/ DEFLECTION LESS THAN L/360 (LANDINGS)
c) DEAD LOAD = 15 PSF
d) POINT LOADING: TOWER FRAMING HAS NOT BEEN DESIGNED TO SUPPORT HEAVY RACK POST/POINT LOADS, POINT LOADS UP TO 355 LBS,
MAY BE SUPPORTED WITHOUT FURTHER INVESTIGATION, IF THE POSTS ARE ORIENTED SUCH THAT THE SPACING OF THE POSTS ARE
PERPENDICULAR TO THE DECK SPAN. CONTACT PK STRUCTURES IF ANTICIPATED LOADS ARE GREATER THEN 355 LBS. OR IF QUESTIONS
ARISE REGARDING POST LAYOUT.
e) MAXIMUM WHEEL LOADS = 0 LBS.
f) SEISMIC: Ss=TBD  §1=TBD
g) WIND LOAD: TBD MPH - EXPOSURE C
h) GROUND SNOW LOAD: 20 PSF, ROOF LIVE LOAD =20 PSF
2) CODE DATA:
A) OCCUPANCY GROUP U "UTILITY AND MISCELLANEQUS" - OBSERVATION / VISION TOWER (NO PUBLIC ACCESS)
B) FUNCTION OF SPACE: INDUSTRIAL, AREA IN SQ.FT. (INCLUDES TOP LANDING) PER OCCUPANT = 100 GROSS (346 SQ.FT. /100 =4)
1) OCCUPANCY LOAD = 4

C) SQUARE FOOTAGE OF THE STRUCTURE: = 346 SQ.FT. (INCLUDES TOP LANDING).

D) CONSTRUCTION TYPE = IIB

E) HEIGHT OF STRUCTURE = 30'0"

F) SPRINKLERS / FIRE ALARMS - NOT REQUIRED

G) NO FIELD WELDING. DECKING MATERIAL ALSO MECHANICALLY ATTACHED.

3) FOUNDATION RESPONSIBILITY:

A) FOUNDATIONS MAY BE EXISTING CONCRETE FLOOR SLAB OR ISOLATED CONCRETE FOOTINGS. THE STRUCTURAL CAPACITY OF THE
FOUNDATION IS TO BE DETERMINED BY OTHERS USING SOUND ENGINEERING PRACTICES. THE EXISTING STRENGTH PARAMETERS OF
CONCRETE, REINFORCING STEEL, AND SOIL BEARING CAPACITY SHOULD BE ANALYZED IN THE REVIEW.

B) MAXIMUM PERIMETER COLUMN LOAD = SEE BASE PLATE LAYOUT SHEET.

C) NON-SHRINK GROUT IS RECOMMENDED WHEN THE TOWER FLOOR IS NOT LEVEL WITH THE EXISTING SLAB ON
GRADE. GROUT & GROUTING ARE THE RESPONSIBILITY OF OTHERS.

4) STRUCTURAL MATERIAL SPECIFICATIONS:

A} FLOORING: 1" X 1/8" 19W4 SERRATED BAR GRATE - BEARING BARS ARE ON 1 3/16" CENTERS, 1 1/16" CLEAR BETWEEN BEARING BARS.

B) WIDE FLANGE STEEL BEAM SHAPES: Fy = 50 KSI: ASTM A572-50 OR A992-50 {FOR TOWER AND TOP LANDING)

C) TOWER TUBE COLUMNS: Fy = 46 KSI: ASTM A500 GRADE B (SEE FLOOR PLAN LAYOUT FOR SIZES)

D) INTERMEDIATE LANDING TUBE COLUMNS: Fy = 46 KSI: ASTM A500 GRADE B (TS 2" X 2" X 3/16"WITHL 2" X 2" X 1/8 " A36 CONNECTION CLIPS).

E) INTERMEDIATE LANDING PLATFORMS: MC10X8.4, A36

F) INTERMEDIATE AND TOP LANDINGS: 1" X 1/8" 19W4 SERRATED BAR GRATE - BEARING BARS ARE ON 1 3/16" CENTERS,

11/116" CLEAR BETWEEN BEARING BARS.

G) STAIRS: MC10X8.4, A36 STRINGERS WITH 1" X 3/16" 19W4 SERRATED BAR GRATE TREADS W/ CHECKER PLATE NOSING.

H) GUARDRAIL COMPONENTS:
- HORIZONTAL TUBES =TS 1 1/2" X 1 1/2" X 14 GA., ASTM A513-TYPE 1, Fymin = 32 KSI.
- VERTICAL POSTS =TS 1 1/2"X 1 1/2" X 11 GA., ASTM A500 GRADE B, Fymin = 46 KSI. - MAXIMUM SPACING OF 90" ON CENTER.
- CORNER ANGLES =1 2 1/2" X 2 1/2" X 3/16", ASTM A36, Fymin = 36 KSI.
- END ANGLES =L 3" X2 X 3/16", ASTM A36, Fymin = 36 KSI.
- KICK PLATE = L 4" X 3" X 1/4", ASTM A36, Fymin = 36 KSI.
- CONNECTION BOLT TO FLOOR FRAMING = 3/8" @.
- CONNECTION BOLT AT CORNERS = 1/2" @.

[} STAIR GUARDRAILS & HANDRAILS:
- ALL TUBES EXCEPT VERTICAL POSTS = TS 1 1/2" X 1 1/2" X 14 GA.,, ASTM A513-TYPE 1, Fymin = 32 KSI.
- VERTICAL POSTS =TS 1 1/2"X 1 1/2" X 11 GA., ASTM A500 GRADE B, Fymin = 46 KSI. - MAXIMUM SPACING OF 90" ON CENTER.
- TUBES FOR EXTENDED HANDRAIL BASE =TS 1 3/4" X 1 3/4" X 14 GA., ASTM A513-TYPE 1, Fymin = 32 KSI.

J) OTHER STRUCTURAL STEEL SHAPES & BASE PLATES: FY = 36 KSI: ASTM A36

K) STRUCTURAL BOLTS: 1/2" DIAMETER = GRADE 5 AND 5/8" DIAMETER OR LARGER = A325 - A490 (REFERENCE DETAILS FOR CALLOUTS).

L) ANCHORS: TO BE SUPPLIED - SEE BASE PLATE LAYOUT SHEET FOR BASE REACTIONS.

5) BOLT INSTALLATION:

A) BOLTS FOR STRUCTURAL CONNECTIONS SHALL BE 1/2" DIAMETER GRADE 5 AND 5/8" DIAMETER OR LARGER A325 - A490 IN BEARING-TYPE
CONNECTIONS, TIGHTENED UNTIL SNUG, UNLESS NOTED OTHERWISE. SNUG TIGHT IS THE TIGHTNESS THAT EXISTS WHEN ALL PLIES IN A JOINT
ARE IN FIRM CONTACT AND MAY BE ACHIEVED BY A FEW IMPACTS OF AN IMPACT WRENCH OR THE FULL EFFORT OF A PERSON USING AN ORDINARY
SPUD WRENCH. PLEASE NOTE THAT THE AISC DOES NOT RECOGNIZE TIGHTENING BOLTS TO A SPECIFIED TORQUE AS A SUFFICIENT MEANS OF
TIGHTENING THEM.  IT DOES HOWEVER RECOGNIZE THE TURN OF THE NUT METHOD AS A SUFFICIENT MEANS TO TIGHTEN BOLTS.

6) STAIR AND GUARDRAIL DESIGN:
A) THE STAIRS, GUARDRAILS, AND STAIR RAILS INCLUDED WITH THIS MODULAR TOWER HAVE BEEN CONFIGURED IN
CONFORMANCE WITH OSHA. THEY HAVE ALSO BEEN DESIGNED TO COMPLY WITH THE 2018 IBC REQUIREMENTS.

B) IBC CODE COMPLIANCE OF THIS SINGLE MEANS OF EGRESS DESIGN ASSUMES ANY [BC OCCUPANCY TYPE EXCEPT H (HIGH HAZARD),

| (INSTITUTIONAL) AND R (RESIDENTIAL) AND MAXIMUM OCCUPANT LOAD ON THE TOWER FLOOR OF 30 PEOPLE.

C) STARWAY TREAD WIDTH=36" STAIR TREAD DEPTH = 11.0" (MIN)  STAIRRISER HEIGHT =7.0" (MAX) ~ STAIR HANDRAIL HEIGHT = 34" (MIN)

STAIR TREAD MATERIAL = 1" X 3/16" 19W4 SERRATED BAR GRATE TREADS WITH CHECKER PLATE NOSING.
GUARDRAIL HEIGHT = 42"
7) FINISH - ALL COMPONENTS HOT DIP GALVANIZED
8) SPECIAL INSPECTIONS PER IBC 2018, CHAPTER 17:
A) HIGH STRENGTH BOLTING
1) ALL CONNECTIONS CONSIDERED BEARING CONDITION AND REQUIRE PERIODIC INSPECTION, UNLESS NOTED OTHERWISE.
2) FRAMED CONNECTIONS CONSIDERED SLIP CRITICAL AND REQUIRE CONTINUOUS INSPECTION.
B} HILTI ADHESIVE ANCHOR INSTALLATION (HOLE CLEANING CRITICAL).
C) CONCRETE PLACEMENT & MIX DESIGN, REBAR PLACEMENT.

Fa=TBD Fv=TBD SDS =TBD SD1=TBD SDC="B" SITECAT.=D

ol

A PORTA-KING | KELLY KLOSURE ENTERPRISE
1-800-456-5464 - EARTH CITY, MO. 63045
WWW.PORTAKING.COM

REVISION

REVISION

REVISION

REVISION

REVISION

PAGE NAME:

TOWER NOTES SHEET

N

PLAN NORTH

FOR REFERENCE ONLY

OF M1

SHEET M1

DRAWN BY:

DATE:

REVISED DATE:

SCALE:

i
2 g85
- S |_ slEss,
o~ Fla
S ® (2 Eﬁm:gg
5 z |BlEgarss
=1 = |E|g8ZES=
= 7] wnSEda
= < Eot 8
@ a 5 ik
= =2 0 |K[2ShEge
S sl > m58ag=
S| = Oluzgiaz=
o 8 LiEsBsm=
o o » [Z|BEsEEe
@ ] a | |228=85
® O = [> §§&E$s
o [ S |x|guns3
o S I oZapna
i Q o [ ShbRES
= = W ezt
= = |Wlgu2Ehs
& S | =[BussuE
o = |X|eshEss
w (A [EsEScE
] w (p|SS=52S
= = ZEoaEtEa o
= =< |EIESESZ2
e o |0 |E25=2a
2 |+'5e8s
2
3 25HEn=
. ] gl
e} = S E
[ = o 58
pre} < =
— =z
Bl |5
=] E =
=
H o
— 2 =]
o~ -~ ~
Q 5 n b
= & 5 e
) L
o

ORDER NUMBER:




WO INDIVLUOd MMM N —)0VAN00Y 1 31V05 ONNVE0 DINCYOR NOLLVLNESHGE ON SN 7190,-8617E5d
3SIUdHALNS JUNSOTN ATTN | ONDI-VLYOd ¥ Elw SSAICE SIS0 FHL NO KNG CI0AQHI J4Y ATHL N 10N, OND ATEN RECAILE
mz: h :z h x(2 40 ALIEIG0Hd ISITIOE FHL 3V SIEAD.1 NOISAC HLY ONIYHO SHL 0b =018
WL NOISIAY =k NOILLVINYOANI AV L3IHdO¥d ELLR
— (.
M & ££928 AM 'SY19N0Q - @VOY W N3ALXIS 097
NOISIAGY & NOILVDOT ALv0 GISIAY
QNIM d4091410vd 1¢-62€
NOISIAGY IV 8O Ava
{ 133HS LNOAV13LV1d 3SVE NOILONMYLSNOD SISIIHILNT ¥ITINA o
o NOISIAGY IAYN 30V 3TVa0 A NAMVHQ
@ g
g 2 2
| L
s 2 ¥ 2 =
¥7f._m: . g~ B x & =
= s . = a W
o o = — = m b
» t S « « s a o W o
S < g < 2 2§ 12
- ol | 3 I P E Bg 3§ Bg
o 1 & 5 H u m_ a 1] m_
| | & . = 3 g8F & g48F
g os g ” J Bgg & Bgg
23 Sad = 72 g 1s9
@ — -
R B o & E2F o L=g
52 - @ - = ooxT Q ooxT
= &S o SAan g Soaw
T L e29 N === ===
H+= a8 B S55S E S55S5
<38 2= =EES= 5 EEE
5 < xEZ g 2
£g2 o=z 2 £33 2 FE%
O . OFoC a [=]
bxn a6 = x
x =B ZEH = 2
m .ullu S i P < A
PR
<IT ~
(]
a —
T2 2
£z23 i
w83 Og
<=9 z@ >3
Al dwop: ST
WS B99RGH
FE -t
S$=Z85&8X3
=0 Ll
FRESTZS9=
GEEHREZET =
o
I 1]
o % ! L
5 5
o <)
w >=
—
5=
3 i
S T
sE =
© & LowL) s9z1.9khh 12 3
~
E Louig 1221 9115 &-81 5 7]
S e (")
fr-]
»
o o]
. & & _
.
9 $31¥1d 3SVE 40 ¥31N30 O1 ¥3IN3D - 0
* Lbie 012] bIE 92} -
<C M

“ONI‘dNOYD ATIN 6002 (D) - "ONI ‘dNOYD ATEM AS GIANISTYH SLHORI 1TV - NOLLYAROANI ANV L314dO¥d




PROPRIETARY INFORMATION - ALL RIGHTS RESERVED BY KELLY GROUP, INC. - (C) 2009 KELLY GROUP, INC.

s wwn
THIS IS AN INTEGRATED PROJECT. PLEASE CHECK MEZZANINE 'E’, % S
AND PRE-ASSEMBLED BUILDING DRAWINGS FOR ALL DETAILS L E 2
THAT MAY BE APPLICABLE TO BOTH TO MAKE SURE THAT 4 ==
—0 NOTHING IS MISSED IN THE ASSEMBLY PROCESS. BE2
3%e =D EZZ
=z = —
?g 2 | 096 5896 1240 916° [154 916" ‘ 43318 [5138] = 2 E =
S:s LANDING LENGTH LANDING WIDTH (& ) g8
533 . . - 2 3 g
° O EERRATD) BAR, GAATE TRERCS GUARDRAIL ! =, 4
= 3 T
S WaX10 = =i ¥
>< . |2 SE es
= waxt »olE 58 ==
WX o g BE. g 2.3 ]
360" ; | é % % 5y o«
) #1 ELEV. § X ¢ ‘ B
T ———t —F B
il - | .3 W10X12 _ Tg e | !
a oo
= r o ' NOTE:
o _
%ﬁfggﬁh | | S o It - HOLES FOR ATTACHING THE GUARDRAIL TO THE
s S S i BEAM FLANGE AROUND THE PERIMETER OF THE
1 wioxiz | F ] ] . MEZZANINE NEED TO BE FIELD DRILLED.
|2 o _g e =l g
g 5|l g8 8 = 3
= = g l; Sl . g |
= el o3 <, T3 55
| f wiokiz 4, i 2. S% 2% 38 5 5 8 [z 3
= 23 |Ix | =3 3 s 83 BEAM SEAT CONDITIONS: I% s B B |3
| — n;: =- § g : :: % % (uj =§ % =§ E oc [ [ o o
CONNEGT SERRATED BAR GRATING | L 4 | o2 8 92 93 #1 - BEARING PLATE 1/2* x4 1/2" W/ L3"X2"3/16"
TO BEAMS WITH 1/8x1" FILLET WELDS == Woar ————————ll g3 = 25 T #2 - BEARING PLATE 5/8" x 4 1/2" W/ L3"2"3/16"
@12" CENTERS, OR USE 1224 X 2" | 2 f - : 25 5 ° #3- BEARING PLATE 3/4" x 4 1/2" W/ L3"2"1/4"
TEK SCREWS AND BAR | = g |5 i o #4 - BEARING PLATE 3/4" x 5 1/2" W/ L3"2'x1/4"
(TOUCH UP WELDS OR SCREWS I WXt oo | AND TRIANGULAR GUSSET. L ELAN NORTH
TO MINIMIZE FUTURE CORROSION) = —— =i &% PLAN NORTH
o i 5 FOR REFERENCE ONLY
Bz iR e}
| 4538 _ 100" [120] eb | sy N =
0 CIC BEAMS C/C BEAMS i C/C BEAMS el = ham
i W1OX12 | # ! = =
T T T T T T T T === T T * T M= — ' [« W w
= % E ? ﬁ %‘ o
= (@]
g 5,2 « £ ar 2
up £ & % [
115" 5 =2 u =
ALL COLUMNS ARE SQ.TUBE ELEV. ° 3- 4 w
HSS 6" X 6* X 3/16" WITH BASE STIGRRaT : = =
PLATES 58" X 12" X 12". " SERRATED BAR GRATETREADS GUARDRAIL ! #12X 1" TEK5 4 @
ALL COLUMNS WILL BE CAPPED. , . SCREW (TYP 4) o
| 159 13116" [189 13/16] 4-338'[51387 | _ 1/2" X 2 1/2" GRADE 5 BOLT
LANDING WIDTH ZINC PLATED, HOLE TO BE FIELD = o
- DRILLED THROUGH BEAM FLANGE. = g | elagl,
. 17.3,2%05; 2 s3/4'] - SUPPLIED WITH PORTA-KING BUILDING BUILDING BASE FRAME % g Q E%E%é
27/8"X27/8' X 114" X 5" LG. =] = |<la2asa:
g 180 314" [216 3/47] S ANCHOR TAB Bl | 2|3
OUT TO OUT OF COLUMNS / OVERALL DECK SURFACE \ 7 g = 8 no: Eggggé
186 314" [222 3/4'] / ol =| B|ZitzEsss
OUTTO OUT OF BASE PLATES gl x| 4 |BESs2E2
r—]| 2| 2| 3|z
o o eEpHmne
\ WBX10 & W10X12 STEEL G| 2| u|Szessts
FLOOR PLAN LAYOUT BEAMS ON TOWER & S |F[edeas
1" X 1/8" STEEL SERRATED BAR GRATE & 5 |SlzetEss
CRITICAL FOR TOWER DECK 3 = |E|EzEsse
= 5 |olzBsE5s
NOTE: THE BUILDING NEEDS TO BE BOLTED TO . |« 8| 2B
THE MEZZANINE BEAMS. ANGLE TABS WILL BE ANCHORING DETAIL FOR g 2 S &5
SHIPPED WITH THE PORTAKING BLDG. THE TABS IE z |3
WILL NEED TO BE FIELD ATTACHED TO THE BLDG., BUILDING TO MEZZANINE
THEN USING THE TABS AS A TEMPLATE HOLES NEED
T0 BE FIELD DRILLED THROUGH THE MEZZANINE -
BEAMS BELOW. BOLTS 2 1/2' LONG WILL BE SUPPLIED _ o
WITH THE BUILDING. o| § S
by B, €
Tl | S| g
. 5 LR




“AOVANIOY B 3TYOS ONIMYYA ONIQUVOTY NOLLYINISIHAY ONSTIHV

NOJ'ONDIVLYOd MMM > NN ETRTR 71901-8617EMd
3SIUdHALNS JUNSOTN ATTN | ONDI-VLYOd ¥ | SSRAII SA3SN FALNO ATNO T301AQHG 34V ASHL IN40'3NI dFOuS AT RESILER
mz: h :z h x(2 30 ALIIAONS NS 3HL 34V SHEA0D A1 OIS AL B ONIMN SHL 0b=00E
WL NOISIAZY =k NOILVINYOJNI AHV13IHdOdd ELLAS
M W ££928 AM 'SY19N0Q - Av0Y I 1IN NIALXIS 09y
NOISIAZY & NOILYDOT T ALERIE
QNIM d4091d1I0Vd 1¢-62€
NOISIAgY IV 807 1va
{ 133HS MIIA NOILYATT3 NOILONHLSNOD S3SIHdHILNT ¥ITINS oW
e NOISI\ZY YN 30vd ATVag AG NMVAIG
Ll
Z W
IYGEVND 40 dOL Zz
L2os] € NGk
wax
3930 40 0L = H
Logel 0-0¢ S
WY28.40 dOL ] » B
oo
L,69E] u}1-62 w B =ES
(2] o
Y330 ONIGNYT40 dOL 5= W o
Lsszl &4z 7 W =
I
=05 =
m QOan
= Z o [72]
(@] o= <C
€ Jj,w
s a3x
G23C
F@Do3
E@a o
f
+= ] mE X8
— = g Enow=
=N m ¢y
=< > =
TWx O
nwnE==2
2o ==
NP O <=
r=T0
1] FIFE=
LU
I >
=
o
= — -
"] <
! LLl
I —
Ll
—_
(72
<C
| LLl
m L
= o)
8io, %
FoZwr
Q [=
H
25 &52E
o Iw=
== W 2
$£=23
el
Sax3d 330 ONIANYT 40 dOL
- (S uL-6
Y330 ONIGNYT40 dOL
Lssel &1z
Y030 SNIGNYT 40 dOL
LSLH 276
Lu
>
=
o
-
<t
>
(17
|
(17
I
-
=
O
wn
2 ;
o . @
EEM: T
RS B s
=>xFo e s
-y w5 &
S0iz2 Wv3d.40dOL EZu
3589k (:65€] b 162 S@a
gavTaos wse
Sxzo2 %030 40 dOL 2F g
Ec538 Logel 0-0¢ mod
2238 S2u
TIVHGNVND 40 dOL = m
[.zov] .9-5¢ ao°

“ONI‘dNOYD ATIN 6002 (D)~ "ONI ‘dNOYD ATEM AG GIANISTY SLHOM TV -

NOILYWHOANI AYY138d0Yd




PROPRIETARY INFORMATION - ALL RIGHTS RESERVED BY KELLY GROUP, INC. - (C) 2009 KELLY GROUP, INC.

"X" BRACE
L31/2"X21/2" X /4"

5/8" X 2" A490
BOLTS W/ NUTS
& WASHERS

"X" BRACE ANGLE TO ANGLE CONNECTION

LB"X4"X 38"

5/8" X 1 13/4" A325 BOLTS, NUTS,

112" X 2" A325

WASHER, & LOAD INDICATING WASHER BOLTS W/ NUTS &

MC10X 8.4

L4"X3" X 14"

GIRDER
Wax10

OUTSIDE STAIR TO BEAM CONNECTION

SERRATED BAR GRATING WASHERS
\ 1" —|~ 376"/ ACROSS TOP
[ L1 / \Q‘R STRINGERS

\ STAIR TOP CONN. CLIP

SERRATED BAR GRATING
/_ STAIRS
|
I\
|
|
1/2" DIAMETER ! [~ LEFT SIDE:
WASHER ON SLOTTED | 1/2' X 1 1/2" A325 BOLTS
SIDE OF CONNECTION | RIGHT SIDE:
1/2" X 2" A325 BOLTS
BEAM | GIRDER ~_ (BOTH WITH NUTS & WASHERS)
.

CLIP ANGLE FACTORY
WELDED TO STAIRS

STAIRTO BEAM CONNECTION

ol

A PORTA-KING | KELLY KLOSURE ENTERPRISE
1-800-456-5464 - EARTH CITY, MO. 63045
WWW.PORTAKING.COM

DETAIL FOR INSTALLATION.

TSTAE TA12"SCALE 112" SCALE
HOLD BOLT HEAD INSTALL LIW UNDER "X" BRACE ANGLE
TO KEEP FROM AFLAT WASHER 21—~ | L312' X 212" X 14" : = = = |2 =
ROTATING ON NUT END oy 5y T ' S 12 B 1B B
TOWER PLATE 38" X 5" X T X o o BEAM OR IE E B |8 |8
COLUMN — | "X" BRACE ANGLE = GIRDER
oR N L3172 X212 X 14" T
— . 5/8" X 134" A325 — 1 TOWER =
\ BTSN | sourswiwts | ] HORZ. BRACE COLUMN .
& WASHERS ~0 "2 11 X 414 I\ o 5y A
' A _— & WASHERS T LL 312 X2 1/2" X 114 PLATE 3/8" X 5" X 10
& W SPACER PLATES N / tn
7 @)1112" \ ; . Lt r T PLAN NORTH
@11 ] WELDS N WA\ 112" -4 174" |__—] - @ FOR REFERENCE ONLY
BEFORE AFTER BEFORE ] WELDS On N8 N 172 -4 147 1 E EacH sipg ” 316 LT 2= 41IF — |2t B =
INSTALL LIW FLAT FLAT § g EACH SipE 16 VT2 - 4 T | 58X 2" A325 § m
UNDER BOLT WASHER WASHER A ~ BOLTS W/ NUTS ‘ o =
HEAD ' V- f o ] & WASHERS &
NOTE: TO ENSURE THAT THE WASHER IS DU N g 15 12 SETX 1 A5 = Y & &
PROPERLY COMPRESSED, AND THE BOLT TENSIONED, 7| weos on YEIN 12512 P BOLTS W Mo & =
THE 015" FEELER GAGE MUST BE REFUSED IN 3 OF THE 4 \ Jy ) |ecnsie VAE- & WASHERS = \_ L w S
FEELER GAGE SUPPLIED EACH SIDE 7 L3 12 X212 X 14" BOLEV % ”g;g L3112 X 21/2" X 114" |§ i
**TURN NUT TO TIGHTEN BOLT** PLATE 3/8" X 5" X 15° ¢ @
LOAD INDICATING WASHER (LIW) INSTALLATION DETAIL COLUMN BRACE CONNECTION AT BASE PLATE BRACE CONNECTION AT BEAM BRACE CONNECTION AT BEAM
§" SCALE 12" SCALE T'SCALE T"SCALE -
/8" X 1 34" A325 BOLT WITH = £ | eBBes,
; 5/8"X 1 34" A325 BOLT WITH S S (Z|=55282
COLUMN ANCHOR BOLTS, SEE BASE 5/8" WASHER ON NUT SIDE 58" WASHER ON NUT SIDE 5 g 8 g%g%?%
PLATE LAYOUT SHEET 112" & 58" THICK BEARING PLATES GET COLMN 10 = o |Z|eeoges
FOR ANCHOR SIZE AND QY. S X 3" 325 BOLTS | el 2| 2| 3|zd=Ezss
PER BASE PLATE. o 34" THCK BEARING PLATES GET b S| £| 8 |(2Ezges
56 X2 112" A325 BOLTS., T \ ! 2| 8| o|feeEs
+ BOTH GET 558" WASHERS ON NUT SIDE. v SROER > [ 1oy \— crroeR > 4 % 3 & eucug
ExnbSi=
BASE PLATE W Bl OE| u|peEess
558" X 12' X 12" 5 - p; _f BEAM v o = |z E%E%i%
o 3ECE=h
GIRDER PURLIN PURLIN - BEAM PURLIN PURLIN = E |Qzazz=2
T % |a|EFEEEE
5/8"X 1 314" A325 BOLTS WITH 5/8 WASHER g | 388
IMPORTANT NOTE. AND LOAD INDICATING WASHERS ON NUT e g BT TEs
"1. BASEPLATES MUST BE IN FULL CONTACT WITH THE CONCRETE S'ELE;( ;22 fgi;'mg?cimgmgﬁﬁgcnorq NOTE: THIS SYMBOL, —Q " MEANS THE I§ g |8
OR EXCESSIVE MOVEMENT IN THE TOWER WILL BE EXPERIENCED. DETAIL FOR INSTALLATION BEAM NEEDS TO BE INSTALLED TO THE
2. NUTS (SUPPLIED) TO BE INSTALLED UNDER BASE PLATES TO LEVEL S X 1 3/ Aa25 BOLTS WITH 5/8 WASHER ' SIDE OF THE CONNECTION CLIPS THAT
3. AMINIMUM OF 1" GROUT MUST BE INSTALLED UNDER EACH BASE NOTE: - 5 3
PLATE. gﬁ&_ ';22 Egzg'PNTD?C(:'TFTEEF\{N%%EIEECT'ON ANSTALL ALL BEAMS ON THE SAME SIDE OF e| § T Z
4. HOLD BASE PLATES UP OFF THE CONCRETE WHILE ANCHORS ARE THE CONNECTION CLIPS UNLESS OTHERWISE S ol, I
o X
o

INSTALLED. USE 2'X4" DUNNAGE THAT CAME WITH SHIPMENT.

TYPICAL BASE PLATE ANCHORING DETAIL
1" SCALE

PARTIALLY RESTRAINED COLUMN / BEAM CONNECTION

1/2" SCALE

NOTED.
PARTIALLY RESTRAINED COLUMN / BEAM CONNECTION

3/4" SCALE

CRITICAL BEAM INSTALLATION DETAIL
3/4" SCALE

DRAWN BY:

DATE:

REVISED DATE:

SCALE:

ORDER NUMBER:




PROPRIETARY INFORMATION - ALL RIGHTS RESERVED BY KELLY GROUP, INC. - (C) 2009 KELLY GROUP, INC.

B A
-|Fc WBX10
= |
ol |
B ——— —
I |
| § |
'[élu'- ————— —-d'— —?— =
TH= || wioxi2
|l all
3 P
<)--I = = |
| | W10X12
—_———
|
il
B A
ENLARGED PLAN VIEW QOF
LANDING AT THE 360" ELEV.
1/4" SCALE

W10X12

\— (2) BOLTS 5/8" X 1 3/4" A325

\ W10X12.\ /— (2) BOLTS 5/8" X 1 3/4" A325
O,
L6"X4"X 38" c: oxt2
Wwax10
N\~ (4) BOLTS 5/8" X 1 34" A325 VEW'AA  © (4)BOLTS 58 X 1 34" A325
[2"SCALE
Wax10 \—Il ° °° W12X19
BACK TO BACK ANGLES E

£‘>./
iy /
PLATE 3/8" X 5" X 5"

BOLT 5/8" X 2" W/

NUT, WASHER & LOAD
INDICATING WASHER.

L3'X3" X 14

PLATE 3/8" X 5" X 10"

1/4"
1 / "

—— TOWER COLUMN

VIEW "B-B"
1/2" SCALE

ol

A PORTA-KING | KELLY KLOSURE ENTERPRISE
1-800-456-5464 - EARTH CITY, MO. 63045
WWW.PORTAKING.COM

_ABJO-.
LF

i"/* -
it_ _f A

ENLARGED PLAN VIEW OF LANDING

AT THE 255" ELEV.
1/4" SCALE

g
i

ENLARGED PLAN VIEW OF LANDING
AT THE 115" ELEV.
1/4" SCALE

BOLT 5/8" X 1 3/4"
A325

14"
1/4"B \

MCI0XBA i3

PLATE 3/8"X 5" X 5" —/

PLATE 3/8" X 5" X 10"

PLATE
ANGLE: - 1/4"X 3" X5 1/2"

L3"'X3" X 1/4"

| ~BOLT 5/8" X 1 3/4" W/
NUT, WASHER & LOAD
INDICATING WASHER.

14
7y

VIEW"A-A"
1/4" SCALE

| owes

PLATE 3/8" X 5" X §"

PLATE 3/8"

X5"X10"

ANGLE:
L3"X3" X114

1w

VIEW "C-C"
1/4" SCALE

T Mo10Xe4 |

PLATE

ANGLE:
1 xF X512 |

L3"X3"X 14"

BOLT 5/8" X 1 3/4" W~
NUT, WASHER & LOAD
INDICATING WASHER.

19"
iy

VIEW"B-B"
/14" SCALE

/— BOLT 5/8" X 1 3/4" W/

NUT, WASHER & LOAD
INDICATING WASHER.

114" BOLT 5/8" X 1 3/4"
/ Q 3" A325

PLATE 3/8" X 5" X 10"

A~ PLATE 38"X5' X 5"

OUTLINE OF LANDING —\

\BRACE

PLATE: 3/8" X 5" X 5"

L3 X 3" X 14"

BOLT: 5/8" X 1 3/4"WITH
NUT, WASHER, & LOAD

INDICATING WASHER

TOWER COLUMN

LANDING BRACING DETAIL
112" SCALE

= = = = =
S <] <] =] <]
7z} w w w w
IS = = s =
L w w w w
o o o o o
m N
=l
=
:oo [ PLAN NORTH
el 2 FOR REFERENCE ONLY
25
<€ =
<<
oo =
g =
C\!‘ frm]
R L
2= S
S
©
< =
y m
= 1]
E] T
w 7]
=
i
s
= ] 5é§§‘3’.5‘
o % =2 5%»%&
= > |Olfesags
(& = |=lesEESS
= ElESZESS
o 1723 wnSEdS
= < Eot 8
@ a =5 Eisnieih
2| 2| o |x|gsasz:
S| £| 2 |oBzEass
S = 8 i wISods=s
@ = T [Z[g8a3Ee
@D Q a |C|288=85
g (=] < [>|aEu=gZ
o [y O |K|gEgEs3
o —_ oz O <ouiT o
Gl 2 o |S|EzssEs
E| | 4 |5EE38=2
=z S (WaygHus
w a==-o8n
o = |X|eshEss
w (A [EsEScE
jur) w (@] o=Zzh=8
= = ZEoaEtEa o
> = |X[E3E652
= % |aIZB5EEG
8 25HEn=
did z T soz=
[ = o 58
pre} < =
— =z
Bl s
=] E =
=
5 8
S = =
o h b
= 8 o, 2
N Slg 2
o] B\
5 S 3 o
=2
2 8 |y |2
= i 2 2 |8
E |z |BE |8 |8




WOJ'INDIVLYOd MMM

“AOVANIOY B 3TYOS ONIMYYA ONIQUVOTY NOLLYINISIHAY ONSTIHV

> NN "IN 30N 71901-8617EMd
SY0£9 "ON 'ALID HLNV3 - Yaps-asv-008- S 2 00 A s VLA N L0028 SARSHIORO GO
Z6MAEELNS UTSOTH KTIRH OHDYALOA Y zS | W0 IS | TEREedieR G bl
x 2 30 ALAB0N SFTTNE 3HL 34 SHIAQD 11 NOIS30 3HL  ONIMY SIHL 01 =.018
s_._.mmz =h°==hm NOISIAY = m NOILVINHOANI AYV131ddO¥dd ELAY
m W ££928 AM 'SY19N0Q - Av0Y I 1IN NIALXIS 09y
NOISIAZY m INOILYOO01 A1va a3SIATY
ANIM dH0J14I0vd }2-62-¢
NOISIAZY “INVN 80r alva
{ 133HS TIV13A ONIONYT ANV VLS NOILONYLSNOD S3SIIdNALNT ¥ITIN ON
2 NOISIAZY YN 39Vd YEIEN] AG NMYHG
/.\ m\/\
= ] ®
2| I 5 z
=7 u = o
zS — 3 5
So L] \ S
L =
| H ) 2
[@]
= 1 |0 O %
< St =
m S
i &
% =
[ 7 m
= ~ =E/R3% EB88 o
z £938 cEE 2J8
SE%E 522 322
Fogn 8§z5 =6 b
wox 250= 220 o0F5 oM
oY= gl wus FRL WS
23w Z T 2 THw = Q = W 73]
zh % 3 e <= g 3&£g8 Sk
SZna EZ = »
55 < S
[&] o =2 -
g = =]
=235 =
=33
o=

1/2" X 1 1/2" A325 BOLT
W/ NUT & WASHER

>

<

=Ank] 2
za= 8
o =
3 5
BWE
[
=RT i
o
g &=
i)
Do
14
w
5
)
%
o i
8 g
(<]
= £3 =
o 22 s
8 35 =
o
. o
= =
o -
=9 =2
Dwm =
=5 - W
3o L W
= x
s S
~ - m
= [ 1
- g [0 o}
!
P4 a4 0
\ L=
D Z
==
g3
WO xR —-=z=
S =X 899
wQ anh
OM [T
—m Sn =
D = <L =
==z =0
5L 2509
= -~ w
=T ~ =
= 5o
4 Q XNE
<C [ =
E 255
o
E
[S)
-
o

ATTACHMENT ANGLES

SECTION VIEW A-A

1" SCALE

W/ NUT & WASHER ON

SLOTTED SIDE OF CONNECTION

LANDING TO STARR

ATTACHMENT BRACKET

TYPICAL PARTIAL LANDING ISOMETRIC
WITH LANDING TO STAIR ATTACHMENT BRACKET

1,2"

SCALE

=

= —_
3 28850
A oW =
(=] ﬂEEanN
m Z%WCM
=] 22500
= =0 n k-
<< Q&FN.S
— o -~ (@) =
— D wn =
= x BEWES
(=] 29 35

=228
= NZw @0
3 M T
EA_&G
%5
mUN
@S

»
x
=
@

TYPICAL STAIR TO LANDING CONNECTION

3/4" SCALE

=
2 &
Z8 2
zZ5
So
{/ L
€ .
] ]
3\ \
0oE
=mA
o g EWM
Wm (SR e N
oX 2N
2 »oxEx .
MR wen D
5 Fgo
o o=
=

[22]
=
=
)
—d
o
WC
-2
@9
23
DO —>
e
259
So B
wEsd
|
2282
o
=
o
o
=
>
(O]
(&) 1]
Z=
e
=
Am
—_
(L]
=
[
=
3

HANDRAIL

(ONE PIECE)

wn
&
<
:

]
<
o~
>
o
s

w =
Ead

@D =
228
=E2
2ag
23,

=z
=0
=
|
o}
[=2]

FOR SIZE

STAIR BASE & HANDRAIL CONNECTION

ANCHORS TO BE PROVIDED
3/4" SCALE

SEE BASE PLATE LAYOUT SHEET

“ONI‘dNOYD ATIN 6002 (D) - "ONI ‘dNOYD ATEM AS GIANISTYH SLHORI 1TV - NOLLYAROANI ANV L314dO¥d




PROPRIETARY INFORMATION - ALL RIGHTS RESERVED BY KELLY GROUP, INC. - (C) 2009 KELLY GROUP, INC.

THE HANDRAIL ON THE LEFT SIDE
RETURNS INTO THE GUARDRAIL

THE HANDRAIL ON THE RIGHT SIDE EXTENDS
12" PAST THE TOP TREAD AND RETURNS
INTO THE DECK SURFACE.

LEFT STAIR NOTE: THE TREADS SHOWN ARE FOR REFERENCE
GUARDRAIL \ T STAR ONLY AND DO NOT NECESSARILY REPRESENT THE
GUARDRAIL ACTUALLY QUANTITY.
LEFT STAR ﬁ \,/
HANDRAIL /4// N~ RIGHT STAR
— NOTE: THE HANDRAIL PROJECTS —_— f
- INTO THE THE REQUIRED WIDTH Q \ HANDRAIL
112" ON EACH SIDE. 412'1S N
ALLOWED.
- ? )‘Z" TS 112" x 1112 x 118" Z I~ <
<O L O
& TS 134" X 1 314" X 14 GA
° ~ ™
f
178" |— ° _
— j BOLT TO SERRATED BAR GRATE WITH BOLTS
- 35" CLEAR BETWEEN - _— 3/6" X 2 112" AND BACKER PLATE.
HANDRAILS 140" (127
SECTION VIEW "A" A —T f STAIR GUARDRAIL
— Z Z = --------------- — STA'R
§E5 % PO N R §5k HANDRAIL
L ES N2 oo
Z=¥ Lk S3*
¥ 0= / \ S| =
225 e N oF
REZ / N o=
P / N AN
yd N
e AN
. / \ / \ l
e STAIR STRINGERS STAIR STRINGERS N _
R e MC10X8.4 MC10XB.4 N .
TEK SCREW NEW HANDRAIL
// \\ TO GUARDRAIL WITH
- < TEK 5 12-24 X 1 114"
o
Z N
yd N
10" [12'] LEFT SIDE ELEVATION VIEW 3067 RIGHT SIDE ELEVATION VIEW 1-0"[127]
STAIR GUARDRALL STAIR HANDRAIL DETAIL FOR STAIR FROM
SLAB-ON-GRADE TO 115" LANDING LEVEL
HANDRAILS AT BOTTOM OF

STAIRRETURN INTO THE
GUARDRAILS - BOTH LEFT
AND RIGHT SIDES.

STAIR HANDRAIL

ol

A PORTA-KING  KELLY KLOSURE ENTERPRISE

1-800-456-5464 - EARTH CITY, MO. 63045
WWW.PORTAKING.COM

REVISION

REVISION

REVISION

REVISION

REVISION

PAGE NAME:

STAIR HANDRAIL DETAIL SHEET FROM
SLAB-ON-GRADE TO 115" LANDING LEVEL

N

PLAN NORTH

FOR REFERENCE ONLY

SHEET M8 OF MM

DEALER:

FULLER ENTERPRISES CONSTRUCTION

JOB NAME:

PACIFICORP WIND

LOCATION:

460 SIXTEEN MILE ROAD - DOUGLAS, WY 82633

PROPRIETARY INFORMATION

THIS DRAWI
KELLY GROUI

DESIGN IT COVERS ARE THE EXCLUSIVE PROPERTY OF

w

NG & THE

et

. OF NE. THEY ARE PROVIDED ONLY ON THE USER'S EXPRESS

INC.Of
AT TH
ERWI
, INC. Of

Y WILL NOT BE REPRODUCED, COPIED, LOANED, EXHIBITED,

jrr}

o=

AGREEMENT T
CHANGED DR 0TI
OFKELLY GROU

NE. T0 THE USER OR THEIR AGENTS. KELLY GROUP, INC. NE.
ENTATION REGARDING DRAWING SCALE & ACCURACY.

mooa

as

MAKES NO REPRE

DRAWN BY:

MO

DATE:

3-29-21

REVISED DATE:

SCALE:

3/116"=1-0"

ORDER NUMBER:

PK34198-10614




PROPRIETARY INFORMATION - ALL RIGHTS RESERVED BY KELLY GROUP, INC. - (C) 2009 KELLY GROUP, INC.

?”

A
[~

NOTE: THE HANDRAIL PROJECTS
INTO THE THE REQUIRED WIDTH
1/2" ON EACH SIDE. 41/2"1S
ALLOWED.

J

TS11/2"x11/2"x1/8"

THE HANDRAIL ON THE LEFT SIDE
RETURNS INTO THE GUARDRAIL

LEFT STAR
GUARDRAIL

LEFT STAIR
HANDRAIL

THE HANDRAIL ON THE RIGHT SIDE EXTENDS

12" PAST THE TOP TREAD AND RETURNS
INTO THE DECK SURFACE.

RIGHT STAIR
GUARDRAIL

N"~— RIGHT STAR
HANDRAIL

ACTUALLY QUANTITY.

NOTE: THE TREADS SHOWN ARE FOR REFERENCE
ONLY AND DO NOT NECESSARILY REPRESENT THE

TS13/4"X13/4"X 14 GA.

F O
- — LEFT SIDE RIGHT SIDE
[ ) 2 [ ]
BOLT TO SERRATED BAR GRATE WITH
217 [— e BOLTS 3/8” X 2 1/2" AND BACKER PLATE.
10" [12]
— — _ nm
- 35" CLEAR BETWEEN g L 0 r _ A- 7
HANDRAILS 3. I ' < - . :
N N o & Ly g =S5 LHJ LDJ
SECTION VIEW "A" =3% = 2 Py
) = e || .- )
DN ' 7 SNaeScaoxgr STAR
ﬁ = HANDRAIL
2S5 STAIR STRINGERS STAIR STRINGERS
AET MC10X8.4 MC10X8.4
A/“
TEK SCREW NEW HANDRAIL
TO GUARDRAIL WITH
TEK 51224 X1 14"
) Er LEFT SIDE ELEVATION VIEW —— 3-0"[36"] — RIGHT SIDE ELEVATION VIEW

HANDRAILS AT BOTTOM OF
STAIR ON THE LEFT SIDE
RETURN INTO THE
GUARDRAILS

LEFT STAIR GUARDRAIL

LEFT STAIR HANDRAIL

STAIR HANDRAIL DETAIL FOR STAIRS FROM

115" TO 255" LANDING LEVELS

STAIR GUARDRAIL

10" 121

RIGHT STAIR GUARDRAIL

HANDRAILS AT BOTTOM OF
STAIR ON THE RIGHT SIDE
RETURN INTO THE DECK
SURFACE

RIGHT STAIR HANDRAIL

ol

A PORTA-KING | KELLY KLOSURE ENTERPRISE
1-800-456-5464 - EARTH CITY, MO. 63045
WWW.PORTAKING.COM

REVISION

REVISION

REVISION

REVISION

REVISION

PAGE NAME:

STAIR HANDRAIL DETAIL SHEET FROM
INTERMEDIATE TO INTERMEDIATE LANDING

N

PLAN NORTH

FOR REFERENCE ONLY

SHEET M9 OF MM

DEALER:

FULLER ENTERPRISES CONSTRUCTION

JOB NAME:

PACIFICORP WIND

LOCATION:

460 SIXTEEN MILE ROAD - DOUGLAS, WY 82633

PROPRIETARY INFORMATION
THIS DRAWING & THE DESIGH IT COVERS ARE THE EXCLUSIVE PROPERTY OF
KELLY GROUP, INC. OF NE. THEY ARE PROVIDED ONLY ON THE USER'S EXPRESS

AGREEMENT THAT THEY WILL NOT BE REPRODUCED, COPIED, LOANED, EXHIBITED,

CHANGED OR OTHERWISE USED EXCEPT IN THE LIMITED WAY PERMITTED BY CONSENT
OFKELLY GROUP, INC. OF NE. TO THE USER OR THEIR AGENTS. KELLY GROUP, INC.NE.

MAKES NO REPRESENTATION REGARDING DRAWING SCALE & ACCURACY.

DRAWN BY:

MO

DATE:

3-29-21

REVISED DATE:

SCALE:

3/116"=1-0"

ORDER NUMBER:

PK34198-10614




PROPRIETARY INFORMATION - ALL RIGHTS RESERVED BY KELLY GROUP, INC. - (C) 2009 KELLY GROUP, INC.

NOTE: THE HANDRAIL PROJECTS

THE HANDRAIL ON THE RIGHT SIDE EXTENDS
12" PAST THE TOP TREAD AND RETURNS
INTO THE DECK SURFACE.

THE HANDRAIL ON THE LEFT SIDE
RETURNS INTO THE GUARDRAIL

LEFT STAR
GUARDRAIL

RIGHT STAIR
GUARDRALL
LEFT STAR
HANDRALL RIGHT STAR
HANDRAIL

NOTE: THE TREADS SHOWN ARE FOR REFERENCE
ONLY AND DO NOT NECESSARILY REPRESENT THE
ACTUALLY QUANTITY.

L INTO THE THE REQUIRED WIDTH
1/2" ON EACH SIDE. 4172'18
ALLOWED.
TS 1 314" X1 34" X 14 GA.
TS 112 x 1 172" x 18" -2
@ LEFT SIDE RIGHT SIDE
%
° ~ BOLT TO SERRATED BAR GRATE WITH
f 10" 1" BOLTS 3/8" X 2 1/2™ AND BACKER PLATE.
112
° " = | = '
— 1= gEe L A g3\ /
=5 - =5 T T
— » % o 1 1 ' % E 0 STAIR GUARDRAIL
- 35" CLEAR BETWEEN °3 3 3 °3
) HANDRAILS 1 5 5 || —1
SECTION VIEW "A" i AN T AONOR
N
N B
|
SEE \ /
& F MC10X8.4 MC10X8.4
,/‘\/‘
TEK SCREW NEW HANDRAIL
TO GUARDRAIL WITH
TEK 51224 X 1 114"
M
) LEFT SIDE ELEVATION VIEW — 30" 36" — RIGHT SIDE ELEVATION VIEW (
10 127
LEFT STAIR GUARDRALL STAIR HANDRAIL DETAIL FOR STAIRS FROM RIGHT STAIR GUARDRALL
[1] [1]
HANDRAILS AT BOTTOM OF 255" TO 360" LANDING LEVEL HANDRAILS AT BOTTOM OF
STAIR ON THE LEFT SIDE STAIR ON THE RIGHT SIDE
RETURN INTO THE RETURN INTO THE DECK
GUARDRALLS SURFACE
LEFT STAIR HANDRAIL
ﬂ RIGHT STAIR HANDRAIL
It

ol

A PORTA-KING | KELLY KLOSURE ENTERPRISE
1-800-456-5464 - EARTH CITY, MO. 63045
WWW.PORTAKING.COM

—
REVISION

REVISION

REVISION
REVISION
REVISION

N

(O]
==
o
=
Lo <C
g
% 8 PLAN NORTH
@ o | FORREFERENCE ONLY
=
=2
a g =
=1 =
= S
L L
()
z= °
(]
o =
x= =
<< 0C
= Ll -
i D = L
= = L
E] = T
] W
=
Sui
=
= ] 5é§§‘3’.5‘
S S |Z|Es5=zs
= > |Olfesa&a
o = [FI2BZESS
> N aB==Hs
o %) g wndEdan
& o 5 BEGE .3
=
=2 = o ([ Egggﬁg
S = 2 |OlnZsass
[&] = roflEa=x
> o 8 '8 Eatsox
| | Z|EE5nEe
@D Q [ OEEESS
gl 2| |[XEEz=gs
o i O (X|gEuE33
o O X (g[E=ngms
w| 2| w|Eleresss
[ o = [ BrZoolE
=z s (= BusSHnus
w a==-o8n
o = |X|eshEss
i (LS sE=EsE
— W | Q|e=<E=s
= = ZEoaEtEa o
E x | =3ES22
. =] Eggsd
e} F S E
o’ = o [=1a}
Y E 1=
= o g
=] E S
=
2 &
S = 2
Q 5 n b
= 3 ol I
g S L
" 5 R
= g |u |2
= i 2 2 |8
E |z |BE |8 |8




PROPRIETARY INFORMATION - ALL RIGHTS RESERVED BY KELLY GROUP, INC. - (C) 2009 KELLY GROUP, INC.

ol

A PORTA-KING | KELLY KLOSURE ENTERPRISE
1-800-456-5464 - EARTH CITY, MO. 63045
WWW.PORTAKING.COM

MEZZANINE
GUARDRAIL

3/8" X 2 1/2" BOLT W/ NUT

BOTTOM STAR

RAIL

/— LANDING GUARDRAIL

LANDING GUARDRAIL —\

TOP STAR
RAIL

A

GUARDRAIL \

TOP STAIR RAIL

REVISION

REVISION

REVISION

REVISION

REVISION

N

SERRATED BAR GRATE

1]
I
! |
| I
| |
/ & WASHER (12 0.C.) | | T _
(FIELD DRILLED THROUGH | i | tn
BEAM FLANGE) || | _{'\ o PLAN NORTH
- L 1220 X1 187 @ | FORREFERENCEONLY
| I / [ -
; SERRATED BAR GRATING | \' | TEK SCREW | \_ <
~ N2 | | } 12:24 X1 114" i
{ Il | TEkscRRW | ——————e = | TEK SCREW =~ =
4 T - I I : g
| | | F=a | oc L
N = : :
! | [/ | |\ : i =
I | I/ " "\ | ANDING COLUMN | =
5\— GIRDER I\ I N =
| COLUMN LANDING COLUMN H e
4 | (BEYOND) W 7]
GUARDRAIL BASE SECTION AT DECKING SIDE VIEW BOTTOM STAIR RAIL TO LANDING COLUMN TOP STAIR RAIL TO LANDING COLUMN TOP STAIR RAIL TO GUARDRAIL
¥ SCALE T"SCALE T"SCALE T"SCALE .
NOTE. TO ACCOMMODATE GUARDRAIL ATTACHMENT OUTSIDE CORNER z g |_ofkge,
MAKE SURE SADDLES ARE INSTALLED ON THE INSIDE GUARDRAIL OF FLOORING S & Zesazgs
FLANGE WHERE THE GUARDRAIL IS TO BE ATTACHED. VEZZANINE CORNER ANGLE g z 2 E%%Eé%
TEK SCREW AT EACH END GUARDRAIL | Sl ol 2 < éﬁégﬂg
PERIMETER BEAM AND ONE IN THE MIDDLE MEZZANINE <z 3| 2| 3|5Es83s:
GUARDRAIL N 8| =| g |Q#2g8:5
' 121" = a| | o |tz
\ ~ 72} o a |S|228=s5
NN . e , niE:
= [ - S | S| E|<|puE
A A E|3 NOSING _.' |<_ 1" CLEAR 112" X 1 114" A325 B | u|hsESze
I I 48 N BOLT W/ NUT (TYP. a S |r|sizean
SERRATED BAR 2|2 ) . ATALLGR.TO GUARDRALL o il |z
INTERIOR BEAM GRATE DECK 2| ([ = GR. CONNECTIONS) CORNER ANGLE 3 & |ziExFoas
H|= X 1" X 3/16" BEARING BARS 38" X21/2" BOLTS 127 X 1 1/4° A325 . | |2 “=E5
TEK SCREW 12-24 Z ) i (12'0C) BOLTW/NUT I§ 2 |§
X 2'#5 WITH BAR = B {HOLES PROVIDED s =
GRATE SADDLE o IN GUARDRAILS) MEZZANINE L
1"X 3/16" 19W4 SERRATED BAR GRATE TREADS GUARDRAIL
y T T WITH CHECKER PLATE NOSING. BEARING BARS ARE . T
_ ON 1 3/16 CENTER, 1" CLEAR BETWEEN BEARING = & 8
) SECTION VIEW A-A ? SARS 2| 3 1
o

| SEE DECK LAYOUT FOR ORIENTATION OF THE GRATING. |

SERRATED BAR GRATE ATTACHMENT TO BEAMS

3/ SCALE

SERRATED BAR GRATE TREAD DETAIL

3" SCALE

GUARDRAIL CORNER CONNECTION

GUARDRAIL CORNER CONNECTION

3" SCALE

DRAWN BY:

DATE:

REVISED DATE:

SCALE:

ORDER NUMBER:




